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Make k the subject.

Express y in terms of X.

Express p in terms of Q.

Make r the subject.
Make n the subject.-

a Make m the subject.
Make m the subject.

Make m the subject.
Make r the subject.
Make b the subject.
Make I the subject.
Make p the subject.

a Make a the subject.
Make d the subject.

a Make n the subject.
a Make y the subject.
Make p the subject.

a Make ¢ the subject.
a Make m the subject.
Make r the subject.

a Make w the subject.

fL HINTS AND TIPS ‘

Remember about inverse
. operations, and the rule

“change sides, change ‘
. signs”.
S

b Make 7 the subject.

b Make ¢ the subject.

b Express ¢ in terms of n and W.

b Express w in terms-efx-and y.

b Make u the.s\ubject.

b Make n the subject.

b Make n the subject.
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